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The figures in the, margzn indicate full marks
far the questions

Answer elther in English or in Assamese
1. Answer any ten from the following questions :
1x10=10
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(a) Define demography.
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(b) Give one example of renewable
resource.
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In which year was Paris Agreement on
Climate Change held? '
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What is meant by land tenure
relations?
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Define public goods.
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.='..:¢3:‘I'lee one Key sgé&%ss factor of

governance.
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State thc meamng of mdwxdua.l
behavmur i
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Write one reason of urban population
growth.
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What is life expectancy?
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Define crude birthrate.
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(k) What is population dependency ratio?
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() Mention one problem associated with
land.
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(m) Give one characteristic of social group.

IR 92T o1 ¢afigs foa |

n) What is microfinance?
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_..j.j'o:) What is meant by common property
resource? i

2. Answe_r any five from the f:)llowing
questions : 2x5=10
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(a) Define sustainable development.
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(b) How does population growth contribute
to the development process of
developing countries?
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(c)

(d)

(g)

(h)

Write down two problems that have
been seen in rural credit market.
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Mention the major eras of globalization
in the last 150 years.
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Point out two most common deficiencies
mvolvmg in govemance
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What are the functions of individual
behaviour?
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Mention two areas where developed
countries can help developing countries
to protect environmental degradation.
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Give the deﬁnltlon of general fertlllty



3. Answer any four from the following
questions : Sx4=20
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(a) Briefly explain the relationship between
nutrition and labour productivity.
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(b) Point out the main determinants of
good governance framework
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_.;:::.:f”’f'c) Explain the purpose of the study:i‘::w
of 1nd1v1dual behaviour 1in SOCla.l
env1ronment ;
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(d) Write a note on financial instability
in a globalized world.
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(e/ What are the consequences of
migration? Explain.
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(N Explain the interrelationship between
economic activity and climate change.
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(g9 What are the causes of gender
inequality in a family?
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(h) Explain the inter- lmkages between
~#iral factor markets “in developing

countries. - .
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4. Answer any four from the following
questions :’ 10x4=40
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(a) Examine the major contributions of
agriculture to the process of economic
development.
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(b)

(c)

Discuss how globalization affects
the commodity trade of developing
countries.
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Explain the functioning of credit market
in a rural economy.
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‘.What is migration? What -are the factors

“ithat lead to m1grat10n?
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Cnncally dlscuss the demographlc
transition theory of population.
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Discuss various measures of land
reforms. How does it affect the
productivity of agrarian society?
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(g)

(h)
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Discuss the factors which influence
individual behaviour in an organization.
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Discuss the terms governance
in organization and community
governance.
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:~;{}:f?f§Expla1n the connection: between income,

mortality, fert111ty and human capital
accumulation. -
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Explam the decline in the effic:1ency of

an organization in terms of Hirschman’s

exit, voice and loyalty theory.
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